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| Seeond Semester B.E./B.Tech. Degree Exam&hation, Nov./Dec.2023
=/ Introduction to Electronics and Communication

Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosmg ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.
3. Assume missing data. |

M| L C
Q.1 | a. | With a neat block d1agram explam DC power supply. 8 | L2 | CO1
b. | With appropriate circy 8 | L2 | CO1
rectifier.
¢. | A mains transformer having a turns ratio of 44:1 is connected to 220V | 4 | L3 | CO1
r.m.s. main supply. If the secondary output is ‘applied to half wave rectifier,
determine the peak voltage that will appear across the load.
Q.2 |a. | With approprlate circuit diagram, explain the workmg of Full-wave | 12 | L2 | CO1
rectifier. Draw the input and output waveforms. |
b. 4 | L2 | CO1
c. 4 |L3 | CO1
input and output currents are 4mA and 200mA, find Voltage current and
power gam
_Module -2
Q.3 |a. +Wein bridge oscillator. 8§ | L2 | CO2
b. What are multivibrathé? Mention the differént types of it. 8 | L2 | CO2
c. | Write a note on cry stal controlled osc‘;llators \ » 4 L2 | CO2
OR
Q.4 | a. | Explain the following operational amplifier parameters: 16 | L2 | CO2
1)  Open loop voltage g"ﬁ‘m
i))  Closed loop voltage gain
iii) Input offset Vg)ltage
iv) Sleeve rate. ~ .
b. | Write a note onx;«fvdltage follower using operational amplifier. 4 |L2 | CO2
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Module — 3
Q.5 Convert the following binary numbers to decimal 12| L3 | CO3
i) 101110 i) 1110101.11 iii) 11011010
Write a note on Gray code and ASCII code. 8 |L2 | CO3
OR
Q.6 What are logic gates? Write the graphic s mbol algebraic funct1on and 20| L2 | CO3
truth table of all 8 logic gates.
Module — 4
Q.7 Differentiate between a general purpose ‘computing system and embedded 12| L2 | CO4
system. s
Differentiate between a microcontroller and MiCroprocessor. 8 | L2 | CO4
OR
Q.8 Write a note on ]»—segment display. Write the two configurations in | 8 | L2 | CO4
7-segment dlsplay
What is a stepper motor" Mention its claSSIficatlon based on coil winding | 12 | L2 | CO4
arrangements and explain in detall
Q.9 With a neat block diagram of a* basw communic tlon system explam 12| L2 | COS
modern communication system scheme.
Explain Amplitude Modulatlon with Relevant waveforms 8 | L2 | COS
Q.10 | a. | With a neat diagr 12 | L2 | COS
8 | L2 | COS
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